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Division of integers

Grade 6 Integers Worksheet

Find the quotient.

L-176 + 11 =
3 33+ 11 =
> 54+ 2 =
760 + -12 =
% 60 + -10 =
11 60 + -12 =
1324 + 12 =
15 .108 + -3 =

10.

12.

14.

16.

-190 + 2 =
4 + 4 =

-10 + -10 =
15 + -5 =
168 + 7 =
88 + -8 =
110 + -11 =
144 + 6 =
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Division of integers
Grade 6 Integers Worksheet

Find the quotient.

L 176 + 11 = -16 > -190 = 2 = -95
3 33+11=3 44 +4=1

> 54 + 2 = 27 ¢ 10+ -10=1
60+ -12 =5 8 15+ -5=-3

% 60 + -10 = -6 10168 + 7 = 24
1160 + -12 = -5 1288 + -8 = -11
1324 + 12 =2 14110 + -11 = -10
15. .108 + -3 = 36 16. 144 + 6 = 24
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